@R nbow 2t | Indigo A [~
9x11= 2X6= 22 0f 14 = 5x10 =
4+2= 15+5= 1/3 0f 90 = 0.9x10=
64 + 8= 9x3-= % 0f 100 = 46 x 10 =
3x7= 18+3 = % of 60 = 120 +10 =
110+ 10 = 3x0= 1/10 of 70 = 6x10=
144 + 12 = 4x5-= /2 0f 50 = 19x 10 =
7x8= 42 =7 = 1/5 of 50 = 45 + 10 =
27 +9 = 12x6 = /2 0f 24 = 0.06 x 10 =
5x8= 28 +4 = 72 0f 16 = 467 + 10 =
42 = 6 = 36 +12= % of 16 = 50+ 10 =
11x12 = 6x1-= 1/10 of 100= 500 x 10 =
9x 10 = 10x 4 = 1/12 of 12 = 0.05+10=




@R nbow at | Indigo B[
8X6= 7x9-= % of 100 = 46 x 10 =
3x7-= 80+8= % of 60 = 120+ 10 =
18 + 6 = 45 + 5 = 1/10of 70 = 6x10=
42 + 7 = 7x1-= 72 of 50 = 19 x 10 =
Ox8= 16 +2= /2 0f 16 = 467 + 10 =
9+9= 4x7= % of 16 = 50+ 10 =
12 x5 = 9x6= 1/10 of 100= 500 x 10 =
6X5= 63+9= % of 14 = 0.05+10=
72 + 8 = 32+8-= 1/30f90 = 5x10 =
11x11= 16 +4 = 1/12 of 12 = 0.9x10=
3x0-= 132+ 12 = 1/5 of 50 = 0.06 x 10 =
2x4-= 36 +12 = 72 of 24 = 467 =10 =




